“ RIVAL

POWERSPORTS

UNIVERSAL SNOW BLADE INSTALLATION MANUAL

RIVAL UNIVERSAL SNOW BLADE
YHUBEPCAJ1IbHbIN CHETOOTBAJ1 RIVAL

2444.0103.1.B - black/uépHbinn
2444.0103.1.S - gray/cepsbiit

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTnTb Ha HeCKonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKOMBbKO 060pOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BwxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHune

EN Screw Arrow
DE Drehungsrichtung
RU lMNMosopot

“ RIVAL

POWERSPORTS



“ RIVAL

POWERSPORTS

Pama / Frame
2444.0096.01

EN Ratchet S-7, S-17;
DE Ratsche S-10; S-36
RU Tpelétka S-13;

7

EN Slotted Screwdriwer
DE Schlitzschraubendreher
RU OTBépTKa Wnnlesas




“ RIVAL
POWERSPORTS

M8

-‘é‘f&
=24 Nm




“ RIVAL
POWERSPORTS

N
\
>

O
3
=1
=i

=

oN

-y

(=]

=1

1 2

o

.6’

9 oy
O S
2
n/a




POWERSPORTS




“ RIVAL

POWERSPORTS

KoBw / Bucket

2444.0101.01 - 150 mm,
2444.0101.02 - 137 mm,

EN Ratchet s-13; HEX <6
DE Ratsche S-17; S- 8’
RU Tpelétka S-19

x1

mégm@gxg@

M8x20 x1 | M8x20 x4 | M10x20 2 [ M10x30 x9
16 17 18 o




“ RIVAL

POWERSPORTS




“ RIVAL

POWERSPORTS

LEFT = RIGHT

14:17

LEFT = RIGHT




POWERSPORTS

“ RIVAL

LEFT = RIGHT

LEFT = RIGHT

LG

C—




“ RIVAL

POWERSPORTS

YHuBepcanbHoe kpensneHne cHerooTBana / Universal snow blade mounting pad
2444.0038.1

EN Ratchet
DE Ratsche S-13
RU Tpeluétka

x1




“ RIVAL
POWERSPORTS

RM 500, 500-2, 650-2

RM 800, 800 DUO

11

.oio’/ 13

1 2

=

& &

_.\3
=% s
& ¢,\11




“ RIVAL
POWERSPORTS

CFMOTO CFORCE 400/450/520

CFMOTO CFORCE 550




“ RIVAL
POWERSPORTS

CFMOTO CFORCE 500/600

CFMOTO CFORCE 800/820

O
O@v\ O @2 N0
O \m\o @m& -
omw w O
O
O
[ .
y | -
%@moo@ogo 0
Q o8 O




“ RIVAL
POWERSPORTS

CFMOTO CFORCE 850/X10

Honda TRX 420/500




“ RIVAL
POWERSPORTS

Honda TRX 680
Kawasaki KVF 750




“ RIVAL
POWERSPORTS

Polaris Scrambler 850/1000

® ®
O O
Qoo OOOOQ 5 Qoo OOOOO
0 ® ®
O [Ama,pn\ o AJo 20 O 1 bgolo o Omwuo
@ O O O O @ 5 O
- % 0" Yo 1% Q 0”50 15
oW 0 O O ®) O @o
o0 0V O O ofJo U O _1 @
O@OO O OO O O :
se - - O |
e 04— L
® o
Q) O P~
Co b O h
\O?QO o\ O m
O& Yo~ Qo Ue £
U % ol 4 O~ O 8
. %ﬁ B%Qal ° %06 O0) |8
J (y O . © .m
o O °C oo U -
O
o~ a R
T
5 0o
‘0
X
5 Qo)




“ RIVAL
POWERSPORTS

Polaris Sportsman 850

Suzuki KingQuad 500/750




“ RIVAL
POWERSPORTS

Yamaha Grizzly 350/450

Yamaha Grizzly 550/700; Kodiak 700




“ RIVAL
POWERSPORTS

HISUN Forge 500/700

BRP Qutlander G2

11713

7;11

7:11




“ RIVAL
POWERSPORTS

Stels Guepard 650/800/850

Stels Leopard 600/650




POWERSPORTS

Arctic Cat TRV 500/700/1000, MUD PRO 700/1000

;

O O
o O OO O 8 O0 O -
ool 7 BN

WOO oO(Q%&%[ﬁ
o O AN

}C)OOQ OOOQ{
O O 0 0O O
O
?Qfé - - géo
o () NP> "o
O O




